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fib数列

题意：$f(x+1)=f(x)+f(x-1)+(-1)^n+x\%5+\lfloor{\log_{2}{x}}\rfloor,f(1)=f(2)=1$ ，求第 $n$ 项。
$n\le10^{18}$
题解：构造两个矩阵$$A=\left(\begin{array} {} 1 & 1 & 1 & 1 & 0 & 0 & 0 & 0 & 0 \\ 1 & 0 & 0 & 0 & 0
& 0 & 0 & 0 & 0 \\ 0 & 0 & -1 & 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 1 & 2 & 3 & 4 & 0 \\ 0 & 0 & 0
& 0 & 0 & 0 & 0 & 0 & 1 \\ 0 & 0 & 0 & 0 & 1 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 1 & 0 & 0 & 0 \\ 0
& 0 & 0 & 0 & 0 & 0 & 1 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 & 0 & 1 & 0 {} \end{array}\right) ,
F=\left(\begin{array} {} f(x) \\ f(x-1) \\ (-1)^{n} \\ s \\ ? \\ ? \\ ? \\ ? \\ ? \end{array}\right) $$ 其中 $?$
代表着 $0,1$ ，起始状态 $$F=\left(\begin{array} {} 1 \\ 1 \\ 1 \\ 2 \\ 0 \\ 0 \\ 1 \\ 0 \\ 0
\end{array}\right) $$ 这样通过矩阵快速幂就可以很好地解决除了 $\log$ 之外的项了。而对于
$\lfloor{\log_{2}{x}}\rfloor$ 显然可以分块计算。
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